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COMPUTER SCIENCE
(Honours Generic/Regular)
For Honours Generic
Answer the Questions from any one Option.
OPTION-A
( Programming in Visual Basic/Gambas.)
Paper : CSC-HG-4016
OPTION-B
( Information Security and Cyber Laws)
Paper : CSC-HG-4026
OPTION-C
( Web and E-commerce Technologies)
Paper : CSC-HG-4036 .
OPTION-D
( Computer System Architecture)
Paper : CSC-HG-4046
OPTION -E .
( Introduction to DBMS )
Paper : CSC-HG-4056
For Regular
( Computer System Architecture)
Paper : CSC-RC-4016
Full Marks : 60

Time : Three hours

The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.
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OPTION-A
Paper : CSC-HG-4016
( Programming in Visual Basic/Gambas )

1. Answer any seven of the following
questions :

were WAl RieFeal bt g Ted Wl ¢
(@) Who developed Visual Basic ?

oo @B @i Refis R »
(b) 1IDE stands for

1x7=7

(Fill in the blank )
IDES 9% (g8 ——|

(0TI 212 7599 )
(c) What is a ComboBox ?
AT [ 2
(d) What is resource file ?
T qAolg o
(¢) What is Flexi grid ?
FRide & »

3 (Sem-4/CBCS) CSC HG 1/2/3/4/5, Re/G 2

g

(f/  The Visual Basic code editor will
automatically detect certain types of
errors as you are entering the code.

( Write whether True or False)

o F'C U T T fSurE @b T
e RRfEee e @R/ wE @l
(oI | (71 1 [ fersin)

(g9 What is timer ?
[QECISACI:

(h) What is an empty value ?
Q! Em 7 2

(i) What is null value ?
Null value f& 2

() What is project file ?
4w Fige [ 2

2. Answer any four of the following
questions :

wero Wl Rizzan bifebr ek Tes T ¢

(@) What is the difference between implicit
and explicit declaration of variable in
Visual Basic. Explain with example.

2x4=8
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(b)

(c)

(@)

(e)

(g)

fSgme @bee el FME @i
GFHT (IFe WiEe Sy [F ¢ T [

ez |

What do you understand by logical
operator ? Describe their purpose.

sfeel SIAAIEGT I F ga 2 39 S
3 |

What is the difference between static
and dynamic array ? Explain with
example.

BT W AT 9EE o oy Fo
Tnizgdl fr giig |

Give code to put an image on VB
form.

VB Ffe 95l B[ F1fR&0s F° g |

What is the purpose of status bar in
Visual Basic ?

fegre @ore ok ava Sy & ¢
What do you mean by function ?
Function {ETCG_'I 153 @l 2

List the main properties of label
control.

I FEE T GREPRE e w4 |
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(h) List different types of DSN.
fafew 4399 DSN wiffeige F1 |

3. Answer any three of the following

questions : 5x3=15
wete WAl Ricprear fefavr e Tea fml ¢

(a) Explain any five important features of
Visual Basic.

fogre @b R sipor sagad @R
[ 4

(b) What is loop ? Write the syntax of the
following loops :

For ... Next, Do while ... Loop
a9 & ¢ FEFRe Ferre AR B e

For ... Next, Do while ... Loop

(c) What is error ? Discuss various types
of possible errors in VB. Also discuss

various types of debugging windows of
VB.

Error & ? VB © fJf$s 4969 18I error I
R e 411 VB 1 [ien w=eix fGafag

TrortR RAwe il F4 |
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(d) What are data aware controls ?

(e)

(9)

(h)

Explain.
©io! v fAEEe [ & 2 i 79

Explain the following components of
Visual Basic :

Tool Box, Project Windows

oo @fbes were fWal ToMICe! it <+ ¢
BT 99, AT BT

What is ActiveX ? List out the five
activeX controls of the VB.

gfFe X & ¢ VB T <lioot @fde X fRgm
wiferee 1 |

Why is VB called event driven
programming language ?

VB 7 7 2o gizen eafis @rewe 36
@RI ¢

Explain any five string operations in
VB.

VB S Rl “fishy B2 wioiiapey it <4 |
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4. Answer any three of the following questions :

10x3=30
weTe Wl Rz ol 2R Tes faan ¢

(@) What is the utility of menus ? What
are dropdown and popup menu?
Explain menu editor.

G ool [ 2 gouitd wims sisfenst
GF & 2 G I it <= |
(b) What are SDI and MDI applications ?
~ Explain in detail.
SDI ©i%: MDI ece & ¢ Reteim o
QRSN
(c) (i) Design ‘edit’ menu using menu
editor and write cod for options—
cut, copy, paste and delete.
G A7 RS R T G

wizn +9 wis REpmeE IR T
FiRa—<, M, 8 = wA®

CoATeTIeAN |

(i) Differentiate between option
button and checkbox with example.

TARER re [ 0N Wik GIAFHI
A1y forit|
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OPTION-B

(d) Define control array in VB with
Paper : CSC-HG-4026

example.
TuleRes (te VB'® ¥ array REIF© (Information Security and Cyber Laws)
Bl

1. Answer any seven of the following

(e) What do you mean by dialog box ?
1x7=7

Explain various types of dialog boxes questions :

in VB. |
wre ol fRelcal Arebt e Tes Tl
AeEtel A I [ @l 2 VB-© [ifen gwee
@A TR I 4 | n (@) Define digital crime.
() Create a VB application to maintain l e Sviaig el |

students’ record.
(h) What is session hijacking ?

QG-Rae SferETd IGie A0 @6t VB
gD (o = | ok R 7
(g) Explain looping statements with
example. (g ——— is an application  of
TR IO et information and communication
i Eﬁ;{\ = technology  (ICT) for  delivering

government service.

(h)

Write a VB program to find the
greatest number from given four
members A, B, C and D.

A, B, C =1 D bR 119 o) wifffés w1t
eIt @6t VB el B |
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(Fill in the blank)

5T (Al MR A O A%

At 2gfes (SiRhi)
(T A2 97 F9)
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(d) For creating digital certificate only

public key is used. () By hacking web server taking control

on another person’s website is called

(State whether true or false) as web ————  (Fill in the blank)
Wﬁﬂﬁﬂﬂﬁwwwﬁﬁﬁwgf @@ SO = IR O IOTE (@ERES FEe
AR T A | (51 @ = ferdly) & AT @@ I @R ——

(I 212 779 )
(e) What is cryptography ?
2. Answer any four of the following
et & 2 questions : 2x4=8
! - E
() Define E-Commerce. l [ frat i T e ¢
(@) What do you mean by information

3T IS i |

security ?

w2 = Jfere [ @ ¢

(g What is information system ?

o2 RE B 2 (b) What is security risk analysis ?
fratsret Rom Resrad & 2
What is th b i 9
{4 Ot (c) What is copy right law in cyber
5129 IR [ 2 security ?
523 TS FEED oL [ 2
(i) Define cyber warfare ? , s 1y
(d) What are E-mail security policies ?

()
HiedE T@S @l ot | 2 citer s TR
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() What is pubiic policy ? Name the

(e) _:;Iz:tp do you mean by disposal of agreement opposed to public policy.
) ol TS & 2 o e [ e

disposal of data {f%i'ﬁ = el 2 i |

U7 "Defing electronic warlate. (d) How to secure information process ?
Egne I@9 el WAl | Also give examples.

(g) What is meant by military security ? % ﬁr@fs‘mm e IR AR 2 FolCe

Tvizgs |

iR RFeR0 e [ e =R ¢ = 1
LA (e) What is the difference between

) 2l is SCADATY } encoding and encryption ?

L

SCADA & ? G S GRipebee e Al e

() Explain the role of information in

3. Answer any three of the following defence management.

questions : 5x3=15 ofoT TIPAC O @ﬁ?ﬂ T T/
wete il Azl fofibt e et il ¢ (g) Explain data protection act in detail.
(a) What is digital contract ? Explain. w2 AT S fqegeid I |

fofercset pfe & 2 Fin | () What are different buffer overflow
(b) What are different issues in the cyber attacks ?

world ? WWW’W‘TﬁS%?

5i%a Teree [ & Rien Rag =g 2
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4. Answer any three of the following
questions : 10x3=30

wote faml R fofsr ee Ted fra ¢

(a) What is software licence in cyber
security ?

5IZA e FHOEAE SEiAg [ 2
(b) What is backup security measure ?
@est s 9 o

(c) What is cyber security ? How to
secure your information ? Explain in

detail.

512317 fRaierel & ¢ (oMY O (TS Ao
7 @Ml 2 Rogeiea iy F4

(d) Explain the concept of intrusion
detection system ?

S 4@ (ARl AT 0 T

(e) Write short notes on any two of the
following :

o [l §b1 9o/ 5o (oIt fovall ¢
(i) Digital signature

fofeoa T
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(9)

(h)

(i) Security governance
(BRI T
(ii) Malicious software
TFOFEF FIOES
(iv) Ciphers
B3I
(v) Hacking
(€S
List any four web security threats.

Riciel 51k (R I R oifeRIge
eIl

Illustrate the firewall design principles.
Explain.

PRI ez ATz Hiae & g i

Discuss different ways of password

cracking.

N (T I [fSq ToArw W T4 |
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OPTION-C
Paper : CSC-HG-4036

( Web and E-commerce Technologies)

1. Answer the following questions : (any
seven) 1x7=7

(a) What is E-commerce ?

(b) What is DNS ?

(c) What is EDI ?

(d) What is digital token ?

() What is URL ?

(/ What is electronic cash ?

(g) What is cryptography ?

(h) What is the full form of ISP ?

(i) What is integrated value chain in
E-commerce ?

() What is SSL ?

2.  Answer the following questions : (any
Sfour) Ox4=8
(a) Explain B2B model.

(b) How has Internet influenced the
business ?

3 (Sem-4/CBCS)] CSC HG 1/2/3/4/5,RC/G 16
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() Compare between traditional
commerce and electronic commerce.

(d) Explain the limitations of EDI

(e) What do you mean by encryption
and decryption ?

() Write the differences between B2C
and B2G models.

(g What is firewall ?
(h) Explain intelligent agent.

3. Answer the following questions : (any

three) 5x3=15
(a) Explain the architectural models of
B2B commerce.

(b) Define electronic payment. Explain
various activities which take place in

the digital token based electronic
payment system.

(c) Write the differences between
Intranet and Internet.

(d) What are the customer effective web
design procedures P

(e) Explain about web advertisements.

() Explain the pros and cons of online
shopping.

(g) Explain ho
secure transactior‘

w SSL protocol is used for
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(h) Explain E newspaper and digital
signature.

4. Answer the following questions : (any
three) 10x3=30

(a) Explain the security features in the
Implementation of E-commerce.

(b)) What is Internet ? Explain the role
of Internet in E-commerce. How do
we connect to the Internet ?

() What are the security challenges and
the protection measures available to
any electronic payment ?

(d) Explain E-commerce in India. What
“are the legal, social and ethical issues
of E-commerce ? Explain.

(e) Discuss E-governance. What are the
challenges in E-governance ? 5+5=10

() Explain the ways and means of
protecting online website operations
from hackers.

(g) Explain electronic payment system ?
Discuss in detail about their
advantages and disadvantages,

(h) Discuss E-commerce models in detaij]
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OPTION-D

Paper : CSC-HG-4046/CSC-RC-4016
( Computer System Architecture )

Answer the following questions : (any

seven) 1x7=7

(a) What is peripheral device ?
(b) D stands for delay in D flip-flop.

(True or False)

(c) What is register ?

(d) What is instruction cycle ?

(¢) The BCD representation of (34)10 is

() What is micro operation ?

(g9 Name any two program control
instructions.

(h) Complement of AND is

(Fill in the blank)

(Fill in the blank)

(i) The address of the next instruction

to be executed is available in

) Speakers can be called as a

(Fill in the blank)

peripheral device. (True or False)
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2. Answer the following questions :

(any

Jour) 2%4=8
(a) State De Morgan’s theorem.
(b) Differentiate between latches and
flip-flops.
(c) What is decoder ?
(d) Define min term and max term.
(e) What do you mean by base of a
number system ? !
() What are the phases of instruction {
cycle ?
(g9 What is addressing mode ?
(h) What is DMA ?

3. Answer the following questions : (any

three)

(@)

5x3=15
Give the Boolean function

F(W,X,Y,2)=>,(0,4,8,910,11,12,13,15).

(b)

Simplify it by using K-map.

Using K-map, simplify the following
expression in four variables :

F(A,B,C,D)=ml+m2+m4+mS5+m9+mll+ml2+ml3
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(¢) What is JK flip-flop ? What are its
advantages over SR flip-flop ?

Compare sequential vs combinational
circuits

(e) Write a sequence of instructions that
will compute the value of
y=x?+2x+ 3 for a given x using
three-address instructions.

(f/ Explain various types of interrupt
with example.

(g9 What is universal gate ? Explain with
suitable diagram and truth table.

(h) Explain the functional unit of a
computer.
4. Answer the following questions : (any
10x3=30

three)

(a) Describe one address and two
address instruction format with the
help of examples. Explain instruction
cycle with a diagram. 5+5=10

What are different types of bus
available in a computer ? Describe

functions of each.

(b)

3 (Sem-4/CBCS) CSC HG 1/2/3/4/5, RC/G 21 Contd.



() What are multiplexer and de-
multiplexer ? Why is a de-multiplexer
is called a data distributor ? Explain
the design of a 4 to 1 multiplexer with

appropriate circuit diagram and truth
tables. 2+2+6=10

(d) Discuss in detail about DMA
controller and its functionality.

(e) Explain different modes of data "

transfer. ‘ l

() Explain various addressing modes in
detail.

(g) Covert the following :
(i) (20.25);0 to binary
(i) 1010.01(y to decimal
(i) 10.27(1¢) to octal
(iv) 76.25p) to decimal
(v) 10110 to octal

(h) Explain the design of full adder
using two half adders. Draw the
truth table and logic diagram.

D ———
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OPTION -E

Paper : CSC-HG-4056
( Introduction to DBMS)

1. Fill in the blanks : 1x7=7

AT 31T =9 4 3

() ———— is an application software
for creating and managing databases.

— 2’6 9 software R
TIOIEE create SN (IS (S |

(b) Record is also called as a
Record  ——— Jfe18 (i1 W

(c) The identifies individual
tuples uniquely.

— 4 993 tuple @A GITSIE
et TE |

(d) ——— NF is based on full
functional dependency.

NF 3 (of6 = full
functional dependency.
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(e)

(9)

(h)

(1)

0)

integrity constraint states
that primary key value cannot be
NULL.
SO R RISl SR I
IR A PR [ ERCI |

The definition of a table can be
changed by using

command.

oo (5F @ AR Tl —————
i JIYT [ A |

BCNF stands for :
BCNF @ ———— difeffag 33|

A ——— schema is a high level
description of the whole database.

RN T (N2 (OO oo

siffag A |

clause of SQL specifies
alternate keys.

SQL ¥
fAffee @ |

Degree of a relation means the number
of in a relation.

@i R Tl I =1 Remaee 9
BRI

YX1® alternate key
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Define the following terms :

(any four)
2x4=8

wete AIRIRT k@ ¢ (e 5o )

(a)
(b)
(c)

(d)
(e)
)

(9)
(h)

Entity and attribute
Candidate key

DML

Normalization

Data independence

Entity relationship diagram
Derived attribute

Relationship

Answer any three of the following
questions :

5x3=15

oS Tl AR Tel B 2 (R foft )

(@)

(b)
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Briefly explain the characteristics of
DBMS.

DBMS 3 REPTRER 53 it faa |

Give the steps to convert an ER
diagram into relational schemas with

example.
ER diagram ¥ %<l relational schema G

SRaE FRAE THIZER (TCS BIAER ot
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(c) !Explai'n foreign key and referential
integrity constraint.
Foreign key W< referential integrity
constraint § R I |

(d) Define 3NF with example.
3NF I k@l o< Tuiggel |

(e) List any five SQL commands and write
the purpose of each of them. |

Rz 56! SQL SR ©ifeiel ofge o
S 3209 ST 2ATATH S T4 |

( WhaF do you mean by key ? What is
the importance of key in RDBMS ?

Give example.
Key W1 & 9@ ? RDBMS © key 7 @3y

& ¢ Twizae faa |

(g) Wha.t is the difference between full and
partial functional dependency ? Give

example.
Full 9% partial functional dependency

3 oy & 2 Twe faa

(h) Draw an E-R diagram for a ‘College’
database. Use at least four entities

and their attributes as you want.
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TS (OHIER @it AR ¢ E-R TR SR |
one BIRE il e ot Real e Fres

«f5es T T |

Answer any three of the following
10%x3=30

questions :

wete famt Reeier fofbt e Ted ot 8

(a) Explain the set operations of relational
algebra with example.
TMiz¢l9 e Relational algebra ¥ Ao
SATRIE 36 |

(b) Define first, second and third normal
forms. Give examples for each of

them.
first, second 9 third normal form S

sewal Tl | o Taied

(c) Write short note on the following:
5+5=10

SQL, DBMS
weTe TRAIRa SO ferl &
SQL, DBMS
(d) Discuss different join operations of
relational algebra.
Relational algebra 9 f3fed join operation
@1 SNCEeA 1|
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(e) Explain the three SQL commands with
example that are used to modify
database. :

OB RS SR TR Rl D
SQL command TR S it I |

() Define JOIN operation. How is it
different from Cartesian Product
operation ? Explain with example.
What are the different types of JOIN
operations ?

JOIN operation® kel fall SCHFEM
2%i% operation-4 TS JOIN operation
@EME AT T Oe JIY F
JOIN operation< Rfon avR B = 2

(g) List and explain the end users of a
database.

(TBI@Z B end user I OIfFFA eFS I
o T FHA|

(h) Discuss the 3-schema architecture
with diagram.
54 (It 3-schema architecture R
HigeToa 9 |
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